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Subject : Business Organization & Management 1st Paper (Creative)
Time : 2 Hours 10 Minutes Full Marks — 60

[ N. B : The figures in the right margin indicate full marks. Answer
any 6 (six) from the following 9 (nine) stems. |

. Habib sales rice to the various places in the country collecting from
different area of Bangladesh. But he couldn’t supply rice ir time as
per customers demand although he could collect it with the help of

producers. So he makes a financial losses. He wants to overcome
from the situation. | |

a) What is re export trade? : 1
b) What do you mean by Social Business? 2
c) What type of trade is done by Habib mentioned in the stem?
Explain. 3
d) What type of action should be taken to over come the situation
by Habib. Give openion. ' 4

2. Valentina and Shahina are two friends. Valentina Starts a business
named “Valentina cloth store”. Shahina involved with Valentina with
oral. Understanding where as she will get Tk. 8,000 per month as
honouriam. Valentina took all decision and dldﬂt Share with
Shahina. After few months the enterprise faced about to close for
financial crisis.  Valentina thought that she will not continue the
business and Shared it with Shahina. Shahina decided that she will
start a cloths business alone by herself and did not share it with

Valentina.

a) What is Quasi partner? | 1

b) What do you mean by unlimited Liability of a partnership
business? 2

c) What type of business organization the “Valentina cloth Stere”
based on Structure mentioned in the stem? Explain 3

d) Analysis for which causes of demerits of “Valentina Cloth
Store” Shahina decided to change herself incated in the stem? 4

3. Mr. Golam Kabir has established a Nursery at the corner side of his
fishery at Satkhira with 15 semi literate Young-man. He exports
freezing fish to Korea although barricade affects his business many
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facilities are not enough So hc had to stnre the fishes and vegetables
at high rate. At that time he had to collect loan from bank.

a) What is Business environment? ]
b) What is meant by historical environment in Business? 2
c) What type of element of business environment humanized Mr.,
Golam Kabir’s business mentioned in the stem? Explain. 3
d) Analysis the rationality of the factors of business environment
that helps Mr. Golam Kabir at the crucial moment. 4

Hasan, Imam, Nasim are 3 friends. They have started a business by
oral under standing. Hasan provided Tk. 30,00, Imam invested Tk.
50,000 but Nasim didn’t invest any amount of money although he
will get Tk. 2000 per mopnth for operating the business activities.
Imam doesn’t do anything but will get profit. After 1 year the firm
earned profit Tk. 12,000 and Nasim claimed Tk. 6000. Hasan took a
part in the activity and claimed rationic.

a) How many members are required to form a public Ltd. Company

at least? 1
b) What do you mean by un limited liability of a partnership
business? 2
c) What type of partner Nasim is in the above mentioned stem?
Explain 2
d) Is there any rationality to claim the amount of Tk. by Imam?
Give argument. 4

“Walton,” the manufacturing Industry engaged to attach Several
manufactured parts and produce finished products like TV, Freeze,
Motor Cycle, Cell Phone etc. They collect these as raw materials
from China and Sales the finished Products in the country. It creates
employment opportunity in the Industry and earned foreign currency
by exporting the finished goods. Providing Tax & duty “Walton”
played a vital role in the economy.
a) Whatis Service Industry? 1
b) What do you mean by self employment? 2
c) What type of manufacturing Industry the “Walton” is? Explain. 3
d) Evaluate the contribution of “Walton’s” busmess in the field of
mentioned subjects in the stem. 4
Tahmida has been formed a new business with her 4 friends named
“Shapla Enterprise” with written under standing for 2 years from
2013-2014. Incase of non registration they didn’t claim at the court
for their payment of due amount of Tk. 30,000 and case also,
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2014 respectively. They would like to continue their business and try
to take 'ner;essary action for the claim legally.

a) What is Unlimited partnership? 1
b) What are the suitable frield of sole proprietorship business? 2
¢) What type of partnership business will be treated the “Shapla

Enterprise”. In the year 2015? Explain. 3
d) What should be done the * ‘Shapla Enterprise™ as they took steps
mentioned in the stem. Show your argument. 4

Hasina and Jemi are two Women Entrepreneurs in Bangladesh
where Hasina engaged in Cottage Industry and Jemi is in Small
Industry. Both are trained up from a Technical Institute and
Collected ‘their capital by selling share. Hasina know the cliefits
expectation and Supply the Products as their demand with quality at
a reasonable Price. So she earned huge profit. On the others, Jemi
Produce huge Product and earned profit but she didn’t response to
the capital‘ providers and didn’t pay tax and duty in time also. She-
decreases the products price unethically also. She didn’t ensure fair
working environment & wages. So she couldn’t Provide enough
dividend to stockholders. She likes to overcome from this situation.

a) Who is entrepreneur? 1
b) What is meant by business ethics? 2
c) What type of social responsibility did performed by Hasina?
Explain. 3
d) Analysis the rationality of Social responsibilities that should be
performed by Jemi mentioned in the stem. 4

Samsong H. Chowdhury, A’l Has Mljibur Rahman, Dr. Mohammad
Younus are some succeed Entrepreneurs in Bangladesh. R. P Shaha
is also as like as them who would like to take challenges, utilization
of time and opportunity. Nazim has also such type of characteristics
in him. He established a leather factory at Savar. In 2010 the

products were sold at cheap rate in local area and he became more
popular in different area.

a) Who is the founder of TMSS? 1
b) What is meant by business entrepreneurship? 2
c) How did Nazim became an entrepreneur mentioned in the stem?

Explain. 3

d) Analysis the factors which are different characteristics of Nazim
than that of general people indicate in the stem. 4



9.

Zakia has a beauty parlor in Kustia town, it is located at the heart of
the town where thousand of Commuters, Shoppers, Service holders
are surrounded her parlor. She is the entrepreneur of the parlor. Some
time she faces many obstacles like capital, beautification items and
customers diversification. But she can take quick decision, change
her business location because of her small size of parlor.

a) What is direct Service? 1

b) What do you mean by compulsory dissolution of partnership
business? .

¢) What type of business does Zakia performed mentioned in the
stem? Explain. 3
d) Do you think the business organization of Zakia based on

ownership will alive in the long run besides any other business.
Show your argument. 4
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1. What is the life blood of business?
(a) Technology (b) Finance
(¢) Transportation (d) Marketing
2. Warehousing removes the hindrance of
(a) Time (b) Insurance
(c) Marketing (d) Place
3. When several manufactured parts are assembled
obtain some finished products is called—
(a) Analytical industry
(b) Synthetically industry
(c) Assembling industry
(d) Processing industry
4. The examples of service industry is—
i. Air lines business ii. Seloon business
iil, Tele communication business
Which one is correct?
(a)i (b)ii (cyideii (d)i&ii
5. What type of business clinic, Education
Institute.
(a) Home trade  (b) Social business
(¢) Industry (d) Foreign trade
Read the stern and answer to the question 6 & 7,
Rabit is a Shipping business man. He purchases key
shipping items from German and Sales to Sri Lanka
and India. But for the shortage of capital he can not
provide his business smoothly.

6. What type of foreign trade did Rabit
performed?
(a) Import (b) Export
(c) Re-export {d) Industry

7. Rabit can overcome the financial crisis by-
(a) Banking (b) Insurance
(c) Transportation (d) Advertising
8. The example of economic environment factors-
i, Capital & & investment
il. Man power iii. Bank rate
Which one is correct?
(a)id&ii (b)i&iili (c)ii &iii (d)i,ii & iii
9, What type of element of business environment
values & ethics arc —
(a) Economic (b) Social
(c) Political (d) Physical
10. What type of element of business environment
“ecommerce™ is —
(a) Political (b) Social
(c) Technological (d) International
Read the stem and answer to the questions No.
11 & 12.
Rubi is an established business holder who collects
raw materials from Rajshahi of cotton and sales the
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finished products to Dhaka. But Hartal, strike &
Inflation, bank rate create the obstacles her
business.

11. What type’s business environment did create
the obstacles in Rubi’s business—
i. Economic environment
ii. Political environment iii. Social environment
Which one is correct?
(@i (b)idii (c)i&iii (d)ii&iii
12. What type of element of business environment
“strike’” 15 —
(a) Economic (b} Social
(c) Political (d) Technological
13. What type of social responsibility of business to
provide sufficient profit to the capital suppliers?
(a) Responsibility to the customers
(b) Responsibility to the investors.
(c) Responsibility to the creditors
(d) Responsibility to the competetitors.
14. Responsibility to the government for social
responsibility for a business is to —
i. Follow the Legal frome work
ii. Provide taxes and duties
iii. Provide sufficient interest to govt.
Which one is correct?
(a)i (b)id&il (c)u&iii (d)i,ii&iii
15. The most oldest form of business is —
(a) Sole proprietorship  (b) Partnership
(c) Company (d) Joint venture
16. Who takes all risk and liabilities in sole
proprietorship business?
(a) Owner (b) Pat titers
(c) Share holders (d) Government
Read the stern and answer to the questions No.
17 & 18.
Antor performed a business with his 3 employees
where he would like to lake less risk and the small
capital.
17. What type of business did Antor performed’?
(a) Partnership  (b) Sole proprietorship
(c) Joint venture (d) company
18. Why does Antor choose lower risky business”
(a) Huge capital (b) small capital
(c) Prompt decision (d) complex formalities
19. Which one is the feature of dormant partner?
i. Dorment partner contributes capital in business
ii. Doesn't take part directly in partnership?
iii, Whose Liability is Limited in the business
Which one is correct?

(@i (b)id&ii (c)i&iii (d)i,ii & iii



20. How many types of partnership business?
(a) 2 (b) 3 (c)4 (d)5
21. The non registered partnership firm can’t case
to the court for claim against third party or
another member for-
(a) Exceeding Tk. 1000
(b) Exceeding Tk. 600
(c) Exceeding Tk. 200
(d) Exceeding Tk. 100
22. How many types of partnership agreement?
(a) 6types (b)4 types (c)3 types (d) 2 types
23. What is the essence of partnership busincss?
(a) Faith (b) Agreement
(c) Capital (d) Goodwill
24. The written form of partnership agreement is
called—
(a) Partnership License (b) Partnership contract
(¢) Partnership deed  (d) Partnership loyalty.
Read the stern and answer to the questions No.
25&26
Hasan and his 8 friends established a business with
registration named “Alter Enterprise” to achieved
same specific object and will be closed after the
mission where all the members will equal Liable for
the business.
Antor performed a business with his 3 employees
where he would like to take less risk and the small
capital.
25. What typo of partnership business “Alter
Enterprise™ is ?
i. Ordinary partnership
iii, Particular partnership
Which one is correct?
(@i )i (©i&ii (d)i&iii
26. What type of partnership will be called if the
vontinue their business after the specific time or
objective.
(a) Ordinary partnership
(b) Limited partnership
(¢) Particular partnership
(d) Partnership at will.
27. What type of ordinary partnership business
Alter Enterprise is —
{a) Particular {b) Partnership will
(¢) Limited partnership (d) Registered partnership
28. Who is the founder & Entrepreneur of BRB
group?
(a) Mohidur Rahrnan (b) Mahmudur Rahman
(¢) Mojibur Rahmaii (d) Dr. Hosne Ara [3egurn
29. What type of industry to collect honey from
forest is—
(a) Genetic industry
(b) Extractive industry
(¢} Productive industry
(d) Service industry

ii. Limited partnership

Read the stem and answer to the questions No.
30 & 31.
Nazim supplied the products according the demand
of market with better quality at proper price. How
ever he provides proper taxes and duties in time. On
the others, Iqbal didn’t do so. However he is not
active to pay salary & wages.
31. What type of social responsibility have asked to

pay salary & wages for lgbal.

(a) Responsibility to the consumers

(b) Responsibility to the suppliers

(c) Responsibility to the investors

(d) Responsibility to the employees & workers.
32. Where is TMSS located at?

(a) Magura (b) Bogra (c) Borguna (d) Kustia
33. Who is the entrepreneur of the concept of social

business?

(a) Dr. Hosne Ara Begum

(b) Dr. Muhammad Yunus

(c) Shahina Akter

(d) Fozle Hossain Abed
34. Which one is the product of small & cottage

industry?

1. Handicrafis

ill. potter industry

Which one is correct?

ii. Weave industry

(@i (Mi&ii (c)ii&iii (d)i,ii&iii
35. Who is the successful entrepreneur in case of
“Dairy firm™? '

(a) Md. Akber Ali (b) Md. Shahjahan Ali
(c) Ameerul Islam (d) Alhaj Chu. Abu Nayeem
36. When the Japanees seized Mayanmar?
(a) At the time of second world war
(b} at the time of first world war
(c) After industry revolution
(d) After freedom fights.
37. Where Was R.P shaha born it?
(a) At Kalihati, Tangail (b) At Mirzapur Tangail
(d) At Santahar Bogra (d) At Mirzapur Bogra
38. Who is the women entrepreneur is case of
cottage industry?
{a) Manoara Pervin Sathi
(b) Dr Hosne Am Begum
(c) Shamirna Khatun
{d) Hasina Pervin
39, Which organization does provide financial
support for the entrepreneurship development?

i. BRAC ii. SME foundation iii. RAKUB
Which one is correct’?
(a)i (b)i&ii (c)undin (d)i,iidin

40. Transportation removes the obstacles in the way
of commerce is-
(a) Personal barrier
(c) Place barrier

(b)Time harrier
(d) Risk barrier
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